4.7 - 4.8 worksheet

Complete the proofs below.

Given: 20 = 27
W is the midpoint
of OT

Prove: <ZB =z 2]

Given: ZSHG = SHGE

FY = (7

Name:

Conclusions

Justifications

Hint: Look for two
triangles that overlap
and share a part.

W



4.7 - 4.8 worksheet

Complete the fowchart for each proof,

Given: Q)

Flowchart Proof

SR and PQ = Sk
Show: SP = OR

Name:

Glven

PG SR

QS=__

Given: Kite KITFE with KE = KI

Show: K1 bisects ~ FKI and ~ ETI
Flowchart Proof

—\

KITE is a kite

ARKET =

J

In Exercises 1-3. /\ ABC is isosceles with 4C = BC

1. Perimeter /\ ABC =48 (}

AC=18
AD=1
i D B

2. m{L ABC = 72°

mi ADC =1
mi ACD =1
B
D
A

1
LETK = LJTK II-\

L

Drefinition
of bisect

3. mL CAB = 45°
mi ACD =1

B



